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12 6.0 0.50 240
1S-03-10 03 0.2 24 6.0 0.25 96.0 E 5000 7.5X1077 5 6.5 X 105 0.035 0.013 0.1
100 3.1 0.03 3200
12 8.0 0.67 18.0
24 8.0 0.33 72.0
IS-04-10 04 0.4 E 5000 2.5X1077 10 9.0 X 10° 0.0377 0.015 0.2
100 54 0.05 1860
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200 8.5 0.04 4700
2| A
2|5
P
S
-]
= b Pg
m
| = =Y
s 5| ®
: 41N>
Pol H7
£l [mm]
@4 A B D E F G H I J K L M N (0] P R a d b t
1S-03-10 47 40 13 12 13 10 17 6.5 3.2 31.6 10 273 16 5 2-M3 35 0.1 6 - -
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IKH-08-02 163 150 47 47 30 395 28.2 534 17 47.2 33 15 -

3-07 15 -
IKH-12-10 228 210 49 62 49 141.6 50 36 90
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16 100 56.2 0.562
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SHK-08-04 100 87 47 30.7 22 18 27 52 18 35 29 4 6 14 34 126 14 5 16.3
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